R0 e K %
LML E AT R SN 22 R R

KRB wpst e (414)

FEEHRI: 1. ARG 5 WA (L 20 AN, 59 150 43
2. AERBiAEE, BUREE E%,uﬁ—ﬁ%&A” k. BEZREE L
R AR I EE@&EEM.T%&ﬁEiﬁM.
3. IMHEE. BPERREBRESE, HEHT.
4. ZRANFHEEGENRTRA, DEE, Tt
— BUUERE (ESDMEFANAFREREPEE—NERMESE, G084 4, 3t 15 /)
B, 60 43
L EEIRMTEE S, — TR ATEE— (D),
A HdED B BEILE  C HUEZE D HiEHkm
2. FNHKTEMRMAAEIRNR (2).
- ERYEFER T A4 0020t P — F VB 8 1 i 2 )
2R By T — R e i e fil =2 (Al
S M FH B 2T 08 (0 T4 AR B e 112 A e T
%ﬁﬁr%%hg@@Tﬁkﬁmﬁﬁﬁmk%
3. +EﬂHﬁ§Jﬁ3 (3),
A PRGIFAHUAL B TS M5 4 o R il 2 T 5
C. BEUfrflmetEss i D PR 77 ML 5 R AR 2 1 45 by
4. — PRI YZ a0 by o, d, e, WIEEMIARTTREIMG L FVIE (4),
A. edcha B. decbha C. dceab D. abcde
CLH0 t= “abcaabbe”, 1ZHEI A next FEAMND (5).
A-1, 0, 0, 0, 1, 1, 2, O B.O, 1, 0, 0, 1, 1, 2, D
=1y 05 1; 1; 1y 14250 D=t 0 0; 05 Ly Ly 25 3
6. WA —MT4HA Alm]ln], BB ALO][O]TEMUALE /£ 644, A[2] [2]FEIK{T B 2 676,
BATERL AR, WARIBIEREHAME (6).

UﬁDﬂb

a

A. 688 B. 678 C. 692 D. 696
7. BHEIITXEL ((x, vy, 2) (u, t, W), MWLERHEHEF t IEEL (7).
A.head[tail[taiI[L]J] B. taillhead[head[tail[L]]]]

C.head[taillhead[tail[L]]]] D.head[head[tailltail[L]]]]
8. Lx%tE¥ LSRR R R T 408 ABCD,  RTFEE TS A CABD, WU iR 7 1% X RS
FIPIFEI A (8D,
A. BADC B. BCDA C. CDAB D. CBDA

10 L3I

HiELH B



9. CaI—HARFIERM %%ﬂhmm&m&ﬁ%%ﬁkmwmm:ﬁ%%%ﬁ%@?T
A. —A+B*C/DE B. -A+B*CD/E C. -+#ABC/DE  D. -+A%BC/DE
w.%—ﬂ:XﬂﬂﬁlmNE%2%%ﬁﬂ¢E%1%%ﬁd@§%o%%ﬁ¢ﬁ%umn
A.9 B. 1l C. 15 D. TFi=E
11 AR IE S, W—F 7k R (1),
A BILHEF B &SRR CORHE D. HEAG AT
12 RIZCRMIEFP S LB R (25, 84,21, 47, 15,27, 68, 35, 20) BEATHE I, A
AEAF I
20, 15, 21, 25, 47, 27, 68, 35, 84
15, 20, 21, 25, 35, 27, 47, 68, 84
15, 20, 21, 25, 27, 35, 47, 68, 84
VORI SR FH B HE e 7 i 02 (12)
A EFFER B, AURHER Co VUHER D ST
13. EEMAS P E RS R R a8 45 4 (13) .
A. 0(n) B.0(log:n) C. O(nlog:n) D. 0(n%)
14, LURTPHRRER R (14),
A. {75, 65, 30, 15, 25, 45, 20, 10} B. {75, 65, 45, 10, 30, 25, 20, 15)
C. {75, 45, 65, 30, 15, 25, 20, 10} D. {75, 45, 65, 10, 25, 30, 20, 15}
15, RHIFREFHET, HAR RSB RE 20 (15),
A. 0 (n) ,0(logn) B. 0(log.n), 0(n*n) C. 0(n#n),0(n) D. 0(nlogn),0(n)

= BEE (RREIL 2 B, 30 4))

1. mm%%%%%ﬁ,&ﬁﬁﬁﬁﬁimﬁémiﬁﬁgﬁnﬂsﬁ)

2. @ﬁ:ﬂm%m;i%@ﬁ?Mﬁ%,ﬁﬁ#—¢ﬁ&,$¢ﬁ@w%w¢%~$%ﬁ
HIE. (1549

E‘HMDwmaﬁﬁﬁF@¢M%ﬁw%ﬁ?ﬁmﬁ@%%ﬁ%%.ETﬁ%mmﬁ%%

AT LT T R B b & B 0k, (20 49)

23T

isht B



2 MV B AT dist EAEE R

M. FHimd T —4 AOE MR TFZ R MM LI ARG LFFmE, K
(1) B0l & FOF R T iR R AL A
(2) #Hi% AOE Pk g, IRMIB e iR TIAT W SR R (20 7).

50 15 300
R L E R A B B R R BB R A TR .
B 1 [2 [3 [4 |5 6 7 8 9 10 |11
B 5 R4 (E
iR R A B[R]

T BAEEEFEY N (40, 28, 6, 72, 100, 3, 54, 1, 80, 91, 38}, E3XK:
(1) HiE—H R, s = ST
(2) FEFIELF = SCHERE R, THERSS & 72, U RIBRES 05 19 = AP (20 2300

i
L
b=|
—~
N

l

(%]
A
~—

HRLET B




